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31. Two Statements S1 and S2 are given below
followed by a Question:

$1:nis a prime number.

S2 : n leaves a remainder of 1 when divided by 4.

Question: If n is atural number between

10 and 20, then what is n? Which one of the

following is correct in respect of the above
Statements and the Question? UPSC PT 2020

a) S1 alone is sufficient to answer the Question.
b) S2 alone is sufficient to answer the Question.
c) S1 and S2 together are sufficient to answer the
Question, but neither S1 alone nor S2 alone is
ufficient to answer the Question
$1 and S2 together are not sufficient to answer
the Question.

31.=ﬂ%%a’tm s1as2Rumu g s agus

S$1: n U AT H&T ¢
$2: n ¥ 4 A fAufora 3 w3 Auwa 1 FgaT 8}

Quest.o%uﬁw;mqi%g?n a2
m%i 18?2 Uy & qaY
: PIH-T/A TR 8 ?
a) S1 AP WY HT I a1 & ferw tmfta
b)szar&rau«mm%ﬁt
c) S1 3X s2 FaHT Uy HTIT #f%muuﬁa
?ﬁmgfa;é1 aﬁ»‘%&h‘{aﬁszmwm

S$1 3 S2 UP HIY UY $T I o4 & faw
ugie gl g1






37. Two statements S1 and S2 are given below
followed by a Question :

S$1 : There are not more than two figures on any
page of a 51-page book.

S2 : There is at least one figure on every page.

Question: Are there more than 100 figures in that
book? Which one of the following is correct in

respect of the above Statements and the Question?
UPSC PT 2020

a) Both S1 and S2 are sufficient to answer the
Question, but neither S1 alone nor S2 alone is

sufficient to answer the Question.
b) S1 alone is sufficient to answer the Question.

c) S1 and S2 together are not sufficient to answer

the Question.
d) S2 alone is sufficient to answer the Question.

7.7 A PYTIs1 IR s2RuMU g P ag e

Uy e
?! e & fHadt ot gy w3 | M

S$1: 51
Ead
$2: Tl® YE WX W A TH U ATPHid 8|

Question: TT IH Y& H 100 | 4ft®
wﬁg'ﬁwﬁwtmﬂm
eI R ?

a) S1 3X s2 34T 8 Uy &1 IX 31 & fore uafa €,
afd= 7 af s1 mmaﬁszmwmm
1 & oo gafa 21

&

P1 I 31 & forw s1 3R s2 vap Wiy wufa
d) S2 AP A UY BT I a1 & foe yafa g1

b)?muummﬁtmmtl






45. Consider two statements S1 and S2 followed by 45, 3 HY=T S1 3¥ 52 3N IWS a1 RU MU Uy W

a question: faar @ifoe:
$1: p and q both are prime numbers. s1;pah1qa’l=ﬂamm¥i'@ﬂtl
S2: p + qis an odd integer. SZ:p+qWﬁWW3I
Question : Is pq an odd integer ? Which one of the
following is correct ? UPSC PT 2019 estion: T pq U& fauw quife g 2 Fufaf@a & 3
werer 5
a) S1 alone is sufficient to answer the
tion
S2 alone is sufficient to answer the a) S1 IPAUYPTIITCA D ﬁl’lz g §|
question \_byS2 I Y T I 21 & fore yafe 21
c) Both S1 and S2 taken together are not a_)qfa;fgamszmmwmma:}tm
sufficient to answer the question Gl %I

d) Both S1 and S2 are necessary to answer IV FYTSI IR 2 THBFIITW A S ferg
the question g S |







59. Consider the following statements in respect of two 59. 3 Wigfa® TBH p X q F Hay ¥ FafafEa sy=t
natural numbers p and q such that p is a prime number wmméﬂ%pwmm%eﬁ?qw

and q is a composite number : T g: P-:_B 5, =
1. pxq can be an odd number, %3(4[323 1. xq U fauw w@ g gt 8| / 7
2. q/p can be a prime number. j/;z \z/ﬁawmmﬂmm
3. p+q can be a prime number. 3 3 +qwmmﬁm3|—~ F:__} 3/.:
Which of the above statements are correct ? mﬁﬂmmmqﬂ‘%f / 7
UPSC PT2022

a) 1and2 only a) Faa 132

b) 2and 3 only 3-{-%; b) Fad2 33

¢) 1afd 3 only % ¢) Paa13R3

d)/1,2and 3 T, 233



63. D is a 3-digit number such that the ratio 63. D U® a9 3F! I W& 39 UPR ¢, &
of the number to the sum of its digits is least. TWIT BT ITP P & AT F AU YAdH
What is the difference between the digit at Bl 21 P23 & WH W 3P AR HE &
the hundred'’s place and the digit at the unit's W UID ® AP P AT AT ﬁm‘—né ?

placeof D? UPSC PT 2023
a) 0 a) 0
b) 7 b) 7
c) 8 c) 8

d 9 d) 9







A A |
69. If p, q, r and s are distinct single digit 69. T p, q, r 3 s JTA-ATT TP HBY

positive numbers, then what is the greatest WH@T&'& at (p + q)(r +s) Wmm
value of (p + q)(r + s) ? UPSCPT2023 THHFIE? 2
a) 230 e IS a) 230 (WK (?’k‘v)(&f' )
\9«)/225 / b)Y 225 20
c) 224 c) 224 a

d) 221 d) 221 Ml‘a

$Xgzae




73. A box contains 14 black balls, 20 blue balls, 26 73. f&dl f&& # 14 Frelt 748, 20 Hielt 71, 26 78 7S,
green balls, 28 yellow balls, 38 red balls and 54 28 Wielt 7€, 38 @& S X 54 g 7S B
white balls. Consider the following statements: FufafEs sy=1 « AR Iifow:

1. Th I ber h th balls 1.3t 2 & aefs =0 A At n A2
e A ey A e R S st e

full group of at least one colour is 175. O Jaxg g, dl n Bt H@IT 175 2!

2. Th llest number h that any m balls 2. 3f¢ 3= | grefs® =u Hl m e 39 TSR
dr:w;mafroel:tth: box r:l‘\ds:lcnlytm;s: cyontainaa: et o & I B gg m-ﬁ-m‘g'a g

least one ball of each colour is 167. 3aYg 1, A m B AYTH HWAT 167 B
Which of the above statements is/are correct? wﬁua YT H A PH-A/A TG 2/8 2
UPSC PT 2023
a) 1only a) Fad 1
b) 2 only b) $add 2
¢) Both1and 2 ) 13 2gHl

d) Neither 1 nor 2 d) a1 382




74. How many natural numbers are there 74.70% f&aA mvf?ﬂs H@m g o s 1186 &t
which give a remainder of 31 when 1186 is fAUTRTT HIA W AUGe 31 TR ?
divided by these natural numbers ?

UPSC PT 2023 a) 6
a) 6 b) 7
b) 7 c) 8
c) 8 d 9

d) 9




75. Let pp, qq and rr be 2-digit numbers 75. HIF #IfSIT, pp, qq 31 rr, 2-3(P1 Bl FWIMY

wherep < q < r. If pp + qq + rr = tt0, where twﬁ <q<réol PP + qq + rr = tt0, SI§l
tt0 is a 3-digit number ending with zero, um% 3-maﬁm%,%ﬂm Jifaw i

TAE,
consider the following statements :
1. The number of possible values of p is 5. at Fafefae sy ) AR s .
2. The number of possible valuesof qis 6. 1. p & HHT AT B TS 5 gl

2.q P HYT A B G316 8|
Which of the above statements is/are correct?

UPSCPT 2023  Iuydad # @ SIF-TI/A HY Tel 8/8?

a) 1only a) Had 1
b) 2only b) &dd 2
¢) Both1and2 ¢) 13MR23=

d) Neither 1 nor 2 d) Far13MRAE2




78. 40 children are standing in a circle and
one of them (say child-1) has a ring. The ring
is passed clockwise. Child-1 passes on to
child-2, child-2 passes on to child-4, child-4
passes on to child-7 and so on. After how
many such changes (including child-1) will the
ring be in the hands of child-1 again ?

UPSC PT 2023

a) 14
b) 15
c) 16
d) 17

a) 14
b) 15
c) 16
d) 17



79. What is the middle term of the sequence 79 . JHFHIB Z, Z Y, Y, Y, X, X, X, X, W, W, W,
ZZY,Y,YV, XXX X,WWWWW,.A? W W . .ASBTHATCHIE?
UPSC PT 2023

a) H a) H
b) | b) |
c) J c) J

d M d M




80. Question : Is p greater than q ?
Statement-1: p x q is greater than zero.
Statement-2: p? is greater than g°?

Which one of the following is correct in respect of

the above Question and the Statements?
UPSC PT 2023

a) The Question can be answered by using one
of the Statements alone, but cannot be
answered using the other Statement alone.

b) The Question can be answered by using
either Statement alone.

¢) The Question can be answered by using
both the Statements together, but cannot

answered using either Statement alone.
ﬁe Question cannot be answered even by
using both the Statements together.

b. 39 WY &1 I, ah’fﬂitf&r\rhzhwmm

P ITANT B a1 oI GHaT 2|

c. B9 WY BT I, S BYAT $T UP A1Y IUANT T

ﬁmmm% A=A A TP HYT B
JUGNT BT T8l fea1 &1 ST g |

HYA JUahT
PR T






81.Question:Is(p+ q-r)greaterthan(p-q+r), 81L.UH R (p+q-rTSTe(p-q+ r)ﬂ,ﬂ'b’fp,q

where p, q and r are integers ? M r ‘Iul'hi 82
Statement-1: (p - q) is positive. PY9-1: (p-q) HATHP ¢ |
Statement-2: (p - r) is negative. PYA-2: (p-r) BUTHDP |
Which one of the following is correct in respect of (Wﬁ'da ¥ Y=l o1 & an d Fufafaa 4 |
the above Question and the Statements ? PI-91 UP Hel 87
UPSC PT 2023 a)wwmm,ﬂﬁﬁﬁrﬁwmm
a) The Question can be answered by using one b ITANT B W1 &l g, &ﬁ W
of the Statements alone, but cannot be HYF PT AdA JUANT BY el QAT S Hbdl
answered using the other Statement alone. {
b) The Question can be answered by using b) 9 WY &1 3ux, a1 A | &t +ft v su=
either Statement alone. Iua F far o wwar g1
e Question can be answered by using ¥ &1 IR, gl HYAl BT TS WY
both the Statements together, but cannot SR R woar 8, rg =i A |
be answered using either Statement alone. fFdt T Y= 1 Sibd IUANT B gl (¢4l
d) The Question cannot be answered even by mmtl

using both the Statements together. the d) S UH T IX, I YT BT THATY ITGH
Statements together. H& Ht 781 e ot wwar g1







e e . |\ et . e,
W

82. Consider a 3-digit number. 82. 3 P! aﬂwmwﬁiﬂml
Question: What is the number ? UY: 98 TSI 182
Statement-1: The sum of the digits of the number is FYF-1: I G & ADI BT NG B S UG
equal to the product of the digits. & wm?l'
Statement-2: The number is divisible by the sum of PYF-2: 98 U@, I9 USSP AP F GONTeA |
the digits of the number. |
Which one of the following is correct in respect of the Uy sy P IR A Paff@a A s e
above Question and the Statements ? UPSC PT 2023 g2
a) The Question can be answered by using one of a) SHUNPIIAL AT A A UP HYF BT AP
the Statements alone, but cannot be answered IuaT &7 fear o1 w&ar §, g YA B
using the other Statement alone. AFd IUGNT HT T8l (U1 o FHdl gl
b) The Question can be answered by using either b) 39 UH &I I, g1 7 & Wt U YT HT
Statement alone. A IuT B a1 & gHar g
¢) The Question can be answered by using both the ¢) Uy BT FYET BT TP TIY IJUGNT ST
Statements together, but cannot be answered o 95dT §, ACIR K] US BYA &1

using either Statement alone. &Y T8l Wl §Pdr gl

JFd
d) The Question cannot be answered even by using d) Uy BT IR, S BYAT BT USHTY IUANT ISP
both the Statements together. gw o s w@ar g1




83. What is the remainder if 2192 is divided by 83. RUGd &1 ¢ Ufe 292 H1 6 | fywrfora e

6? UPSCPT2023 WIATg?
a)0 a) o
b) 1 b) 1
c) 2 c) 2

d) 4 d) 4




84. AB and CD are 2-digit numbers. Multiplying 84. AB 3T CD 2-3(®! gTell HE&ITE 81 AB &I CD |
AB with CD results in a 3-digit number DEF. T[0T &4 WX UG 3-3H! St TSI DEF U
Adding DEF to another 3-digit number GHI BIdl 81 DEF &I 3= 3-3(H! B TS GHI AV WIga
results in 975. Further A, B, C, D, E, F, G, H, l are TY 975 W BIal 81 WY & A, B, C, D, E F, G, H, |
distinct digits. If E = 0, F = 8, then whatis A + B R 3T 1 afCE=0F=8 a1 A+ B+ C Fad

+ C equal to ? UPSCPT2023 TRIERE?
a) 6 a) 6
b) 7 b) 7
c) 8 c) 8
d 9 d 9




e, < o ———————————
CLOCK

4) Between 5 and 6, a lady looked at her 4) 5 maﬁtmwmﬁmm
watch and mistaking the hour hand for the U3 TR U3 3R I °e Bl Y§ B e It
minute hand, she thought that the time ¥ wug forar 3k I/ o7 ¥ & vt &1
was 57 minutes earlier than the correct HHY el 99Y | 57 fae ugd &, o) 9aee

time. The correct time was & fPaaTIug g I|T YT ?
24 minutes past 5 35 awy 24 firre

b) 12 minutes past 5 b) 5awHT 12 fA=e

¢) 36 minutes past 5 ¢) 5qudT 36 e

d) 48 minutes past 5 d) 5auPT 48 fi=e




CLOCK

5) The minute hand of a clock overtakes the 5) U® U3l @1 fie #t JE Wel ¥HY & 76 fiFe

hour hand at intervals of 76 min of the

correct time. How much does a clock gain

or lose in a day ?

a) 198 min (loss)
b) 198 min (gain)

199 169/209 min (loss)
d) 199 min (gain)

& JRTE W e BT g A fred g, ahaarsq
i ag ugt v e # fram a1 ar it W
garat g ?

a) 198 fi=e (divdh
b) 198 fi=e @w)

\7/1 99 169/209 fae (<)

d) 199 fiFe @w)



THANK YOU!



